


















Find the option which should replace (?)

16 : 124  :: 11 : ?

(A) 88

(B) 86

(C) 24
(D) 22



Find number of triangle in given figure ?

त्रिभुज की संख्या ज्ञात कीत्रजये?

(A) 32 (B) 27

(C) 41 (D) 37





The total of the ages of Amar, Akbar and Anthony is 80 years. 
What was the total of their ages three years ago ?
अमर, अकबरऔर एंथोनी की कुलआयु 80 वर्ष है। तीन वर्ष पूवष
उनकीआयुका योग त्रकतना था?
A.71 years
B.72 years
C.74 years
D.77 years



If you write down all the numbers from 1 to 100, then how many 
times do you write 3 ?
यत्रिआप 1 से 100 तककी सभी संख्याएँ त्रलख िें, तोआप 3को
त्रकतनी बार त्रलखेंगे?
A.11
B.18
C.20
D.21



The total number of digits used in numbering the pages of a 
book having 366 pages is
366 पृष्ो ं वाली एक पुस्तक के पृष्ो ंको क्रमांत्रकतकरने में प्रयुक्त अंको ं

की कुल संख्या है

A.732
B.990
C.1098
D.1305



We have 16 columns and 18 rows of students in a 

playground and distance between the two students is 

1.5metres. The length of the row of students is
हमारे पास एक खेल के मैिान में छािो ं के 16 सं्तभऔर 18 पंक्तक्तयां हैं

और िो छािो ं के बीचकी िूरी 1.5 मीटर है। छािो ंकी पंक्तक्तकी लंबाई

है-
(A) 20.5 m                 (B) 22.5 m

(C) 22 m                    (D) 25.5 m



What is the product of all the numbers in the dial of a telephone 
?
एक टेलीफोन के डायल में सभी नंबरो ंका गुणनफलक्या होता है?
A.1,58,480
B.1,59,450
C.1,59,480
D.None of these



A school has 2100 students. For every 20 students there 

is one class monitor. The number of monitors in the 

school is
एकसू्कल में 2100 छाि हैं। प्रते्यक 20 छािो ं के त्रलए एककक्षाका

मॉनीटर होता है। सू्कल में मॉनीटरकी संख्याक्या है-
(A) 100 (B) 75

(C) 80 (D) 85



In an examination, a student scores 4 marks for every correct answer and

loses 1 mark for every wrong answer. If he attempts in all 60 question and

secures 130 marks, the number of question he attempts correctly, is
एक परीक्षा में, एक छाि प्रते्यक सही उत्तर के त्रलए 4 अंक स्कोर करता है और हर गलत

उत्तर के त्रलए 1 अंक खो िेता है। यत्रि वह सभी 60 प्रश्ो ं में प्रयास करता है और 130 अंको ं
को सुरत्रक्षतकरता है, तो उस के सही प्रश्ो ंकी संख्याक्या होगी-
(A) 35 (B) 38

(C) 40 (D) 42



Anuj is 5 years older to Barkha and 7 years younger to

Chandan, while Barkha and Dheeraj are twins. How

many years older is Chandan to Dheeraj ?
अनुज बरखा से 5 साल बड़ा है और चंिन से 7 साल छोटा हैं, जबत्रक
बरखाऔर धीरज जुड़वा हैं। चंिन से धीरज त्रकतने साल बड़ा हैं?
(A) 10                            (B) 18

(C) 14                            (D) 12



There are deer and peacocks in a zoo. By counting heads they are 80. 
The number of their legs is 200. How many peacocks are there ?
एक त्रचत्रड़याघर में त्रहरणऔर मोर होते हैं। त्रसर त्रगनने पर वे 80 होते हैं।
उनके पैरो ंकी संख्या 200 होती है। त्रकतने मोर हैं?
A.20 B.30
C.50 D.60


